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Another tax
goku syo
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sasR—English tran‘slatlon-

1.There are 175002%ku, And another tax cost 4%v° for
1goku.

How many another taxes do you pay ?
<solution>
175008%kuX 4syo =  70Q(Qsgoku

2. There are 8500080ku
. How many another taxes encompassed 1t ?

<solution>

85000goku = (]goku 4 4syo) <answer>

. Tax is 817376.923%.
=85000 + 1.04 Taxis 8173769238,
=81730.7692307s°
85000—81730.7692307 N
=32160923.77° Pt
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= Tax Kuchamai
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REBER-English translation —

There are 175008°ku. And another tax cost 45¥° for 18oku, o
How many another taxes do you pay ?
Answer is 7008°ku,

Multiply 175008°kv by 450 js solution.

There are 850008°kY. How many another taxes ?
Answer is 8173076.923%Y°,

Another tax is 32160923.77%°.

< solution >

1goku + 45Y0 = 104sY° \
85000005° - 104° = 8173076.92307 A
8500000 — 8173076.92307 =3216092377
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Kuchimai is another tax. This area’s prblems another tax is 45¥° for
1goku.

Tokugawa shogunate decided the size of Issyoumasu.
Masu mean wood cup. 18°% js 1 hundred times as large as
[ssyoumasu.
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This problem is problem of percentage.
Next time, we want to find our solution.
| think that there are many solutions in SANGAKU in the same way

SNERYDMBIREEZ 3L (22 LEER|f-, Modern problem.

We feel enjoying to think our solution, reading original sentence.
We wanna solve many problem.
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